05904 PRI kP E RN -EREE- A iR X H

7= miiEA

M
Ml
RELRIEF

g
EmESNBEELLE,

BR:
EmRREPER. TAXANIERE—H. TEUEIENERE
BXU T REREM,

R4 -

05280 BRI 18

07110 RIHEKFE R iR1e
07117 AN KF4

07120 # JRAF3E L1242 DIN 6332
07121 KL TATIE L 1R 48
07140 &P DIN 6311

07142 [EH]

c2
Fany
A\
D
c2
Ad
L |
|
15
STy

A3
A2 A2
A A
D
¥ - 3
E —— g 7
o = o & ra %
» A3
A2
A
05904-005002 2 86° 67° 100 650 900 550 620
05904-006002 3 86° 67° 160 1350 1900 720 1200
05904-008002 3 86° 67° 200 2000 2800 830 1400
05904-010002 3 90° 71° 250 2200 4500 1200 2800
05904-012002 4 88° 68° 280 2400 5500 1000 2800

© norelem www.norelem.com



05904 fRIER £ 7K F R EJRE- 7] {5 X H

A A1 A2 A3 A4| B | Bt
05904-005002 M5x25 18 |27145|135| - 81 41/132| 92 | 225|262 | 52 |55| 522 | 479 | 1257 | 41,8
05904-006002 M6x35 26 |39|65| - |25 141 91175125 |435|369| 8 |55| 752 71 186,6 | 60,5
05904-008002 M8x45 26 44| 9 - |35 141 91| 21 16 | 415|465 | 105 |6,2| 88,2 | 843 | 2231 | 74,9
05904-010002 M10x55 41,5 59| 9 - 2 162 92| 26 19 | 47 | 596 | 10 |88 1143 | 107,5 | 279,4 | 103,9
05904-012002 M12x70 44 (65|11 | 40 | 1 16,2 92| 28 | 21 47 | 759|135 (85| 1284 | 1252 | 314,7 | 122

© norelem www.norelem.com



